Block 1 Review ~ Understanding Decimals
Name__________________________________________      Period______      Date____________

1.  Which decimal do the base-ten blocks below represent?
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A.  0.217

B.  0.712

C.  2.17

D.  7.12

2.  In which place is the digit 4 in the following decimal:  2.48?

A.  ones

B.  tenths

C.  hundredths

D.  thousandths

3.  What is 2.483 rounded to the nearest hundredth?

A.  2.4

B.  2.48

C.  2.49

D.  2.5

4.  Jamie wants to buy a blanket at a store.  She rounded the price to the nearest dime and gave the cashier $15.70.  Which amounts below could have been the price listed on the price tag?  Circle all that apply.
A.  $15.62
B.  $15.64
C.  $15.65
D.  $15.67
E.  $15.73
F.  $15.75

5.  Which list shows the decimals below in order from least to greatest?

0.343,    0.33,    0.34,    0.034

A.  0.33, 0.34, 0.343, 0.034

B.  0.33, 0.34, 0.034, 0.343

C.  0.034, 0.34, 0.343, 0.33

D.  0.034, 0.33, 0.34, 0.343

6.  What is the length in centimeters of the following line?


A.  5 centimeters

B.  5.2 centimeters

C.  5.5 centimeters

D.  5.7 centimeters

7.  What is 7.4 centimeters rounded to the nearest half centimeter?

A.  7 centimeters

B.  7.5 centimeters

C.  8 centimeters

D.  8.5 centimeters

For numbers 8a – 8d, circle YES or NO to indicate whether the lines measure 3 centimeters in length when rounded to the nearest half-centimeter.

8a.  
8b.  
8c.  
8d. 

9.  Which of the following decimals are greater than 0.429?  Circle all that apply.
A.  0.492
B.  0.43
C.  0.42
D.  0.4
E.  0.428
F.  0.439

10.  What is the approximate value of 
                       9.4 + 3.81?

A.  
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B.  
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C.  
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D.  
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11.  Katherine used 3.25 pounds of potatoes for a meal she took to her neighbors.  She used 6.1 pounds of potatoes for a meal she took to a potluck.  About how many more pounds of potatoes did she use for the potluck than the meal for her neighbors?

A.  about 3 pounds

B.  about 4 pounds

C.  about 8 pounds

D.  about 9 pounds

12.  What is the approximate value of 
                 11.93 
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 4.28?

A.  
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B.  
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C.  
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D.  
[image: image9.wmf]»

 50
13.  Bruce used 12.2 gallons of gasoline to drive 239.4 miles.  Estimate the number of miles he can drive with one gallon of gasoline.

A.  about 17 miles

B.  about 18 miles

C.  about 19 miles

D.  about 20 miles


14.  Which of the following expressions have a value of less than 5.5?  

A.  13.68 – 8.12
B.  13.73 – 8.02
C.  13.56 – 6.87
D.  13.24 – 7.96
15.  Merideth measured 3.25 cups of flour and 1.625 cups of brown sugar into a bowl.  How many cups of ingredients did she have altogether in the bowl?

A.  4.875 cups

B.  3.83 cups

C.  2.425 cups
D.  1.625 cups

16.  What is the value of 8.294 + 5.825?

A.  2.469

B.  3.571

C.  13.919

D.  14.119

For numbers 17a – 17d, use the information below to determine whether each statement is TRUE or FALSE.

Jon filled a bucket with 2.7 gallons of water.  He used 0.98 gallons for watering his tomato plants and 0.76 gallons for watering his peppers.

17a.  Jon had 0.96 gallons of
         water left in his bucket.
17b.  Jon had 1.04 gallons of 

          water left in his bucket.
17c.  Jon used 1.74 gallons of 

         water in all.
17d.  Jon used 1.64 gallons of

         water in all.
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